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Fuil HAN 487 ool 1,038 PE HAN 2,218 2,121 4,339 EZels HARN 173 136 359
SR A 5 5 T0 IS 16 79 75 SR A 3 3 6
i 492 Hhb 1,048 S 2,264 2,150 4,414 kil 176 189 365
H14 2 7 n23 1,826 ol 12 1,889 172 1 2 175
TR HAN 977 913 1,890 INEH AT TE EZIK/\ 2,009 1,918 3,987 [EES HAN 1,447 1,448 2,895
FANESPN 14 4 18 FINESPN 23 14 37 SRE A 16 5 21
S 991 917 1,908 S 2,092 1,932 4,024 i 1,463 1,453 2,916
180 17 1 798 1,544 22 10 1,576 1,215 11 [§] 1,232
A HAN 090 067 1,363 INEFINTE EZIK/\ 3,018 3,400 7,083 BI#ZS EZIKJ\ 1,003 968 1,971
FANESPN 14 10 24 FANESPN 31 39 70 FANESPN 15 9 24
B3 710 677 1,387 i 3,649 3,004 7,153 B3 1,018 977 1,995
593 14 3 o010 2,082 40 23 2,045 850 11 4 871
N HAN 0 0 0 e B H ZIKJ\ 119 122 241 EAEEER HAN 393 409 802
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LANESPN 22 [ 28 LINESPN 1 3 4 LINESPN 261 210 471
S 1,626 1,677 3,303 EiS 405 416 821 EiS 22,681 22,166 | 44,847
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Eil Hh31 519 1,050 EiS 946 947 1,893 EiS
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a1 497 517 1,014 B 187 194 381 B3
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